AN & 0 & A
20118 =& 3 & JIESgE3H &Xl che =)
EO0F- 22 - ZHAIY - S2AALS (S H) Off &F oH J & A HwsS2 =
ES Al 150,983, 169 150,890,861 92,308 0.06%
ALY 126,638, 666 127,266,830 AB28, 164 A0.49%
MWEes 22,396,217 21,675,745 720,472 3.32%
HY2HZ I 1,948,286 1,948,286 0 0.00%
QS ISHH 50,000 50,000 0 0.00%
MWE-28 50,000 50,000 0 0.00%
IWES 2= 50,000 50,000 0 0.00%
SBEXNE(FHAMASESIA) 50,000 50,000 0 0.00%
BEEs 124,733,053 125,390,928 AB57,875 A0.52%
&otE - 2 124,733,053 125,390,928 AB57,875 AN0.52%
= ZEH 10,792,862 11,250,020 A457,158 A4.06%
R FOXJ(FEMNLALELSIH) 787,249 787,249 0 0.00%
FZINEAL (=EIMEASEE S ) 6,522,980 6,980, 138 AN457,158 A6.55%
BHAXGN ML (EIMLAISSESIH) 3,047,728 3,047,728 0 0.00%
SHAINZANEEXN 2D (= ENEALSLEIIA) 434,905 434,905 0 0.00%
ot=% ¥ XIdt==2t2| 93,083,943 94,005,132 A921,189 A0.98%
Stedel elZetRE (St AL SE 3 ) 830,000 830,000 0 0.00%
St=Z 2l EX(EMEAISSESIH) 43,290,416 43,998,816 A708,400 A1.61%
of=2H AX (St AL SESIH) 9,545,647 9,669,565 AN 123,918 A 1.28%
AT Al St HUIAS (FEMLALEL 14,902,000 14,902,000 0 0.00%
A)
St=ZLHEAIE 222 (=ML AISEE 21,971,020 22,029,891 A58,871 AN0.27%
3l
FoMelAE 22 (EMLEMLESLSIAH) 512,576 512,576 0 0.00%
Kot BE(ot-=SAISSE 3 H) 66,552 96,552 A 30,000 A31.07%
NEEE S3HEAIE 22 (=EMLAL 1,065,732 1,065,732 0 0.00%
SH3IH)
SAFAl ot=EFH| JI2HEHE (2L ALY 900,000 900,000 0 0.00%
S43IH)
Hees(sdn) 1,320,354 1,300,000 20,354 1.57%
BEXE(ZENLALSLESIH) 1,320,354 1,300,000 20,354 1.57%
HRES(ot4=1t) 18,827,494 18,835,776 N8,282 A0.04%
WEHAHXIE (St AL EE 3 A) 18,825,594 18,833,876 NB,282 A0.04%
SEXE (ST AL SE3IAH) 1,900 1,900 0 0.00%
ML &E s (ot+=0t) 708,400 0 708,400 100.00%
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20F- 22 - FHAY - SSIAL (31 o & o ol @ o HRE2 =
S HHT S (S EHL AL ESSIH) 708,400 0 708,400 100.00%
NEEVY 6,450,834 6,426,401 24,433 0.38%
EX 3,590, 129 3,565,696 24,433 0.6%%

20| ZMESH 3,366, 160 3,341,727 24,433 0.73%
HASE BN (ABS0ASSESH) 3,366, 160 3,341,727 24,433 0.73%

HEE S (AS =X ) 223,969 223,969 0 0.00%
)E&m%(ggaowa)(9|§§:04A+%%%§|34| 223,969 223,969 0 0.00%

=g 2,860,705 2,860,705 0 0.00%

=) &Y e 2,860,705 2,860,705 0 0.00%

AT SYBRI(FUASSHEIH) 2,860,705 2,860,705 0 0.00%
+52DS 5,525,633 5,630,038 A104,400|  A1.85%
HEDS - 28SJI6 5,525,638 5,630,038 £104,400|  ~1.85%

HEDE S48 X 5,525,638 5,630,038 A104,400|  A1.85%
HERS M2 HE(DSAMSSEE) 4,544,047 4,648,447 A104,400|  £2.25%
DEOHE A LS DEALSHSIH) 178,217 178,217 0 0.00%
EZR 2el(REAASHE) 803,374 803,374 0 0.00%

WeES(REHF D) 0 0 ol  100.00%
SENE(DEASSZE) 0 0 ol  100.00%

2E YR AH 12,275,358 11,445,208 830, 150 7.25%
27t 2,392,230 1,918,080 474,150 24.72%

DEot Ml 29 2,392,230 1,918,080 474,150|  24.72%

DISoH4Mel® S (SEMLALSEEIH) 2,392,230 1,918,080 474,150|  24.72%
KU A 1,231,514 1,267,514 £36,000] A2 .84

ENPIEESE 92,782 128,782 A36,000 ~£27.95%
JISALEIANLSS(OIBALET L 2 92,782 128,782 £36,000 £27.95%
Sw3H)

SAHE 1,138,732 1,138,732 0 0.00%
eI ESET=IND NPT e SIVESET=IND PN 1,138,732 1,138,732 0 0.00%
HUX 24 YASESIH)

R 8,651,614 8,259,614 392,000 4.75%

oY =BEX 29 7,385,614 6,993,614 392,000 5.61%
AYETER ol (SBUTILLBIANLS 7,385,614 6,993,614 392,000 5.61%
235])

Hees 1,266,000 1,266,000 0 0.00%
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